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Within the article “Vogel” [English: bird], there is a link to the article “Adler” [eagle]. The link is found in 
the “Unterbegriffe” section, which denotes hyponyms. The link is additionally tagged with the word sense 
marker “[1]” that refers to the sense “an animal with feathers that is (mostly) able to fly”. It is however 
not clear, which of the eight different word senses of the target term “Adler” is correct for this relation. 
This target word sense is to be found and annotated within this study. 

Setup 

• The dataset is given as an Excel sheet. 
• One row belongs to one possible Wiktionary relation. 
• For each relation, all possible target word senses are given. 
• The word senses of the source and the target terms are represented by glosses. 
• These target word senses should be judged to be appropriate for the source word sense. 

o For the example above, the target word sense [1] would e.g. be correct, since it denotes a 
bird of prey, while sense [2] (the eagle as a heraldic animal) is not. 

• Correct relations should be marked with a “1” within the column “iscorrect”. 
• Incorrect relations should be marked with “0”. 

Please note 

• Do not imitate an algorithm! 
• Multiple “1”s are possible for a Wiktionary relation. 

o e.g. Existentialism IS-A philosophy<studies, teaching> and 
Existentialism IS-A philosophy<direction of thinking> 

• Sometimes no “1” is suitable for a Wiktionary, i.e. none of the possible target word senses is cor-
rect. This is also allowed. 

• It is possible that the type of relation is not “suitable”, e.g. too course-grained synonyms or too 
general hypernyms – this type should not be taken into account; it is only provided to support the 
judgment of how the word senses fit together. Just concentrate on finding the correct word senses 
for the relations rather than judging their consistency. 

• Sometimes the glosses are trimmed or normalized by JWKTL and thus do not clearly describe the 
word sense. It is allowed to consult Wiktionary for the original gloss. 

• The annotation process should take about 2 hours. 

 


